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Express the fraction 1/5 1 in scientific notation $dn e d J1/51 éagsp?1 Sl Jea
to 3 significant figures. Aogina a3 e e

[ 197 x 1072

[ 2.00 x 1072

s

s [ 2 x 107290

An aluminum beverage can contain 12.0 fluid 4._1&35 12 .0 b il & ias P.M‘ oo Al
ounces of liquid. Express this volume in liters. R | PPN AT S g e

1floz=29.6mL gl 296 = Jilemddyl ]

[ 407 x 10°L

™)

246 L
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Which of the following represents a possible set Al Al ) e Alaine e gene S i les éi

of quantum numbers (n, /, m,, and m_) for an ol A s =B, |, my, and m
electron in an atom? ‘ & S sl

[ 2,02 12

[ 2.2.0 12

X
/ [ 2.1.0.0

What is the correct Lewis structure for lodine tri
fluoride molecule IF5?
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Calculate the specific rate constant (K) for the ;‘_,,_1';\51 el (K) 4= s il e ool
following reaction:
NH4+ l:ilt]] + NOE_(M] — NZ (g] +2 HEU [l]

[NH

4 (a q)] mol/L

[Noz_(a q)] mol/L Initial Rate {mol/L.s)
3.6x107

0. 01 0.02
0.02 0.02 7.2x10°3

002 1.44x102

0.04

~
( 1.78x10 2 Limol-s

.

u/-
L 18 mol /L-s

|/-
:’| 4.5 10 Limol-s

\ )
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Calculate the activation energy for the reaction o lalas) s Ul Jetell taozul) A3Ua s
below: sslial Jsasl)

sh?t +2Co3t > sn*t + 2Co2*
EJ'l_):.]l jl_'_'sJJ
Temp (°C k(1/M's

2 3.12 x 103
27 27.0 x 103

" [k—] i

R=8.314JK lmo™1

[ 42.5 kd/mol.

[ 7.97 kd/mol.

[ 203 kJ/maol.
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MName the following compound. _qludt S jall o

[ 5-methyl-4-bromo-1-cyclohexene Al St gy g0 b j

\ .
~— [ 3-bromo-2-methyl -1-cyclohexene S eSO tag -3 j

[ 2,3-methylbromo-1-cyclohexene Al e e g Jae-3i2 j
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The nitrite ion (NO, ™) concentration was doe A NO, ™ <oyl gl S g aan

determined in drinking water sample using aig e ‘7_‘.}..;:51 | J.m PAREARE ) sl
spectrophotometer, the following data was Sy Jaall s ol bl e J gemal)
obtained, and the calibration curve was plotted in ) ol _,s._h i3 .‘_‘_;_h e
the figure below: : R e e =

s
Concentration NOZ_ ppm

Lalaiah
Absorbance

AR sleall Aie
Diluted water sample

Uakaia¥l
Absorbance

Trail 1 Trail 2 Trail 3 average

0.451 0.448 0.450 0.450

y=0.1029x- 0.0096

Absorbance

4 6 10
Concentration (ppm)

A6 mL of the original unknown sample was AL gen ) ALY Ball e Ja B itan
diluted to 100 mL and its absorbance was il gl aliatial dld 219 e 100

measured three times, the experimental data is A padll Sl el ol e 236
summarized in the above table (Trail1, Trail 2 (Trail 3 5 Trail 2 « Trail 1) sSlef J gl

and Trail 3), find the concentration of nitrite in . X f ool e o
the original unknown sample? T adallslall e b oy all 1S 5 aa gl
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Barium ion was reacted with sulfate ion to form
insoluble barium sulfate, if the average particle

size of the formed barium sulfated was
1500 pm, the type of precipitate that will be

formed is called: (1 pm= 10"1% em)

The Emirates Standardized Test

Sl sl gl e g ) gl ol
SIS Gl Al ALEN e o g ) i oS
el S S e Slaal) saa b g
€ 55 ot 14 11500 pm 3 g5

(1 pm= 10"1%cm)

[ Crystalline suspension

Sk e j

\
Ry [ Crystalline precipitate

[ Flocculant

For the following nuclear reaction, what is the
element X7?

ﬂnﬂéﬂl La t;u.‘ﬂ'l é}}.’lll Jamﬂ)hﬁh
X e

210 4
f5‘41"'1:1 -+ X + 2He

2018-2017 rwhall plsl
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